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Converting fractions
to percentages
is _ % part _ % 23/100=23%

=- or —
of 100 whole 100
Percentage formula
Percentage
100%, to find any other percentage take

original number + by 100 (gives 1%) x by
number of percent needed

If the denominator is
not 100 you will need
to find the equivalent
Top + bottom number
x100=%

0-45 x 100 = 45
0-45 = 45%
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MEAN - meanor

(Middle)

The number which is

in the middle or the

middle value-
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6777911111823
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(Average)
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(Most)

The number that
appears the most-
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(Difference)

The total of the The difference between l
numbers divided by the largest and the g
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how many numbers smallest number o
there are: % -
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Percentage (decrease)

decimals to
percentages

Starting value - final value + starting value x
100

Volume (Cylinder)

1 x Radius®x Height
or
1 x Radius x Radius x
Height

V (]

Decimal x 100 =
%
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Percentage Increase = = 100

Percentage (increase)

Final value - starting value + starting value
x100
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Conwerting fractions to decimals is representing a fraction a5 a decimal without c =
5 el onverting %1,000 x10 %100 §
o s fraction to | ml ol ml | cl
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Conwert % to a decimal % 1+ 2 [T S0 % 0% 3/8
3+8=0.375 Conversion
Length
Mass |
Volume
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Convert 40% to a fraction .
X 40 40+20 2 - =
4% =40+ 200 = 105 " i00 + 20" & % +100 =top o <
2 number
So 40% = 5

Great YouTube channels to support Maths revision:

NCFE - https://youtube.com/playlist?list=PLO5CIIRfHw9gUhxUDacO5CcprsarCakgs

Corbett Maths - https://www.youtube.com/@corbettmaths/featured

The GCSE Maths Tutor - https://www.youtube.com/@TheGCSEMathsTutor/featured

Maths with Mr J - https://www.youtube.com/@MathwithMrJ
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